. 6666x7777+8888 9

10.

11.

(A)0 B) 1 (€)2 (D)3
. a ﬂ 2x2—|—9x+2=() (\/E + \/E )2:
5 5 13 13
(A) -3 (B)E ©) ey (D)7
a=+5 b=V11 =421
(A)a b c B)b ¢ a Cc a b D)a ¢ b
10000 2 Q Q
(A)10400 (B) 10404 (C) 10201 (D) 10200
_1+2\/§,~ i=~—1 a b W tawltdwt+S5=—4+bw (a,b)=
(A) (11 -7) B a1 7 ©) (11 =7) (D) (11 7)
P(-1+i) 60°
(A)\/§2—1+\/§2+1l. (B)\/§2+1+\/§2—1i (C)_\/g2+1+\/§2—1i (D)_\/§2+l_\/§2—ll.
logs5 +10gy4/125  logys8 10g5%
1 1
(A)y—=~ B3~ ©)7 (D) 4
sin(-¢)  tan(270° +6)  cos(-0)
sin(180? +8) tan(8—-270°) sin(90° +0)
(A) -2 (B) -1 ©0 (D) 1
(A) tan@=1 0=45°
(B) sin¢9=l cos@=ﬁ
25 25
0
< o 5
(D) P(sin3 cot3)
. 1T -1 7T
(A) sin 3 (B) tan 5
(C) cotr D) |x|<1 sinsin~ 'x = x
a b la|=3 |b|=5 a b=6 |3a+4b|=
(A) 28 (B) 27 (C) 26 (D) 25



12.

13.

14.

15.

17.

18.

19.

20.

21.

22.

23.

x=b_y-2b_z-2b

a beR L b . o x=2y+2z-2=0 (a,b)=
2 2 2 2
A) (=3 »-2) B) (-3 »2) ©C3.2) O (3 .-2)
Xy 2+ 4y —4z-55=0 X +y =1
M=
(A)11 (B)10 (C)9 (D)8
C x™*y*+kx+(k-4)y—(3+k)=0 k C A B
(A)x+y+1=0 B)x+ty—-1=0 O)x+2y—-1=0 D)x—y-1=0
ABC A(3 -5) AB (3 2) (4 2) C
(A)(1 9) B)(6 2) ©) (s 9) MD)(2 6)
x+y—-2z=1
2x—y+z=2 a=
x=2y+3z=a
(A) 1 (B) 2 (C)3 (D) 6
R TN 3
(3x 27x2) X
(A) =594 (B) =540 (C) 220 (D) -81
4 3 1
4 B C PA)y=5 PB=, PO=¢
(A)A4 B (B)P(AmB)z% ©A4 C (D) P (B C)z%
A B CDEF 6 A
C D
(A) 72 (B) 144 (C) 192 (D) 288
3 =12x P P F A(3,2) PF+PA P
1 1 2 2
&) (3-2) B) (5 .1) ©(F.2) D) (5. 1)
C' A(4 0) C (x+4)*+y?=36 C' P
x? yz_ x? y2: x? y2: x* ﬁz
AT B 7" O+ P55
10 (xi y) X1yeesXy Si=4 Vi,V S,=2 r=20.8
(A) 0.4 (B) 0.64 (C) 0.8 (D) 1
0 0 0 l
40% 30% 30% J
1
3
11 12 13 14
(A)% (3)5 (C)% (D)%

AB

D | —



24. 3x2 +7xy—6y° —19x -2y +20=0
(A) (B) ©) (D)
25 4— 09550 —sin 50 B c?s70 —sin 70 4B —
| sin50°  cos50° sin70°  cos70°
1B 1B 1B 1B
A 2 2 Bl 2 2 ol 2 2 D)y 2 2
IR ®ls 4 “E o PlE 1
L 2 2 2 2 2 2 2 2
2 1 1
26. a beR ax’—x b 0 ——= = (a,b)
2 3
(A)(6,1) B)(6,-1) ©(-6,1) D) (-6,-1)
27.xeR y=3(4"+47)-10(2"+27)
(A)7 (B) -7 (C)-14 (D) 14
a+2h)— f(a
28. fix) x=a f'(a)=2 lim ut h) Sl@) _
h—0
(A) 1 (B)2 ©3 (D) 4
29.
2 2 2 2
(A)lim XX+ _1 B) lim 232 o) gy W FL (2L
x>® Dx 2 x>o 3x?+5 3 S e x? 4]
30. 4x* + 24xy + 117 + 105 =0 20x%+ by*=c bte
(A) 105 (B)-105 (©) 110 (D)-110
31 40
2B
31. f(x) (- DE-2)x-3) 2 +x—7
A x-1 4 B f(x)  x-2 3
O) fx) x—3 14 D) f(x) x-1Dx-2) Tx—11
(E) f(x) (x—2)(x—-3) 1lx+19
32. log2 =0.3010 log3 =0.4771
(A) log5 =0.6990 (B) log1.2=0.7910
(C) log0.018 -1 (D) 10g0.018 0.2552
(E)3* 10
o o 25
33.  0°<60<45 tan(9+cot0=E
. 12 . 7 . 1 .2 2 7
(A) sinf cosd =75 (B) siné + cosé =3 (C) sinf —cosf = 3 (D) sin“@ —cos™0 = ~55

(E) tand :g




34.

35.

36.

37.

38.

39.

40.

x2 y2
3]
(AT t>1 B) I X 2<t<3
©F x l<t<2 (D) I (<1 t>3
(E)1=2
I xy—-2x+y—-6=0
A) I
B) I (-1,2)

(©) 3 r %

(D) =42

E) I y=2

. X’ +ax -
lim -
ol X

(A) a=—1 (B) a+b=0 (C) a<b (D) a+1=b (E) b=a+2
A B C 3x3

(A)AB = BA (B) 4B=0 A=0 B=0

(C) det(4)#0 AB=AC B=C (D) (A+B) =4>+24B + B

(E)AL =1A=A
F(x)=x"—8x* +22x* — 24x

(A) (- , 1) B)(1,2) ©)(2,3) D) (3, =) E)(1,3)

15 4 3

(A) 4
(B) =
©) =
(D) S

(E) =

Xy
A (x4 22z 16 By x+Lyy+H =9
X oy y X

(C)x+§z\/§ D) > 2xyy

X+

(B) (x+1Y+ (p+1)>8
X y



